Menidian:

Meridians are imaginary lines of longitude on the earth that
extend from the North to South Pole. A principal meridian is
one which is used as a reference line to survey a large area.
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The magnetic meridian is a line joining the magnetic north
pole with the magnetic south pole inside the earth.

Type mendian

The line on a plane passing through the geographical North
Pole or geographical South Pole and any point on the surface
of the earth is known as true meridian.
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For the survey of a small area, if a convenient direction is
assume as a meridian known as Arbitrary meridian.
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